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0000 Aeop(A) 00000 zp#0, Az = Az 000000A00000
2o 00000000000000Ker(A—A) 00000000000 X
0ooooooO

0000 dimE < oo 00000¢(A)Uor(4) =¢

obooooboobooonb!l e onto =00 MW
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ud
e I000DO00DODN o() =op(I) = {1}
o E=(Cla,0L, |-l
Az(t) = tx(t)
(A= XDz(t) = (t — N)x(t)
ker(A— M) ={0},0p(4) =¢
1
x(t)

Y
A€[a,b]°0 ANODO

(A—AD~a(t)

Aele,)0 AODODODODO
0 Dg, ={z(t); =(A) =0}

p(A) = [a,b]°,0r(A) = [a,b]
o E=(L%a,b]| " |2)
p(A) = [a,b]°,00(A) = [a,b]

e E=1{
A(zy,22,...) = (0,21, 22,...)
Az =Xz 0 (0,z1,22,...) = XNx1,22,...) 0 =0
op(A) = ¢
-0X#A000000 R\=(A-A)"'0D00000ODO
y=Ryx = z=(A—- ANy = (1,22, ) = (—Ay1,¥1 — Ay2,--*)

_ 1 _ 1 +1
Y1 = /\351,3/2— b\ T2 /\351,

- A=0000000 ROZA_1|:||:||:||:||:||:||:|
y=Roz=A"'2 « x=Ay = (71,72,...) = (0,y1,%2,...)
A'0x,=0000000

A_1(0,1'2,1'3,...) = (1’2,1’3,...)
gooooooo

p(A) = {N A > 1}, or(4) ={X A <1}, 0c(4) = {\ A =1}
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e 0 E=1V

Az1,22,...) = (A1, A2, ...) [N <M

-\ 0000000

e; =(0,0,...,0,1,0,...) 0i000 10

Ae; = Niei, {\i} Oop(A)
SAeA={\HLA#)\,0i000000000
A0D0000O00O000

Az =Xz 0 O n,\pzpn =Xz, 0 2, =00 =0
A00O000O000000

yO Im(A-XN)0O O z,< (A=X)z,y >=00 0O n,z =e, O
M =Ny =00 y=0

Dg, 00O
~A€eA°DODO

Oe>0,[An— Al >€
Yn
An — A

O y=(y2--.), §n =
19113 < e llyll3, 4 € o
(A=ADj=y

(A =Nyl =9l < eyl
A=At <e*,NOOO
0Oo0o0oooon

C

p(A) = {Ai} oc(4) = {Mi} = {Ai}, op(4) = {As}

e 0 E=(Cla,b], [ - [loc), max|K(z,y)| < M

b
Af(x) = / K(z,y)f(y)dy VolterraOODOOOO

jars < 2= s pooooooooo
n:
S A#£0
1 A
— -1 _ = _ 2yl
(A= AT) T a-5)
1
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n (b

1A =AD" < 3 i O

A£0000

-A=0

Im(A) O {f; f(a) =0}, not dense in C[a,b], 0 € or(A)
goooooboo

p(A) = {X # 0}, or(A) = {0}
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13. 00000 (2)

O000 AO compact 000000000 >000000000000
oosés0OO00OOOODOODOOODOODOODOODOOOOO

000 AO compact OO DOOOOOOOOOCOOOOOOOOOOO
gbooooog

000 A0 compact 00O ODO0OOOO0OOOOOOOO
[AL] > (A2l > |As| > ...

gbooooobooboOooobobooon

J0oo0000oOooo0o d0bo0oooooooooooon
A g,
T1,T2,...
go0obooooboobbdddb; D000 booga
E, = span{z;;1 <i <n}
goooooooooooooboobbooooo
ynEEn,HynH:l,d(yn,En,l)>%|:||:||:||:||:|
{E/\—Z}DDIZI
A{?\—"}DDD compact

0000000000000 {i/\—"}DDDD
n
Yn =y apzr 0000

n—1

A(i—:) = Z i_:Akxk + anty
k=1
n—1
A
= Zak(A—k —Dar +Yn =20+ Yn
k=1 "
IAGE =52 = llzn 90 = 2 =

1
||yn - (ym + zZn _Zm)H > 5)” >m

Cauchy ODOOCOOOCO MW

31



0000 E O Hilebert 000A D Unitary 0000A* = A~ '000000
000D00(A)0 S ={z]z|=1} 0000

00000p(4)0 S'O0D0D0O0C-S0p(A) 0D00DO

- Al >1
1 A
_ —1 —— \n
(-4t = Lty
A 1
D00 I5l=5<10000000000
- Al <1
I
_ -1 — -
A= 4) AT - A D)
I
L
T = 4%
— _A* Z()\A*)n

INU*||= |\ <1 000000000 =

0000 EO Hilebert 10 0AD O00O0O0O0OO0OA*=A4000000
000O0¢(4)0RODOOO0

0000 Aeop(4) 00000000
O xzo #0, Azg = Axg
< Azg, mg >= Al|zol|
< Azxg,z0 >=< 20, A* 20 >=< T0, AT) >= \||0]|
A=\000)X0000 W
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